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< 8,000
03 A2 Z Hl 8,000 8,000 0
O&=HLHEAL A EH 8,000
< 8,000
401 Al HIZ 2018 20,000 10,000 10,000
= 20,000
01 A& HI 20,000 10,000 10,000
OIgE U AIEd2 HUISA 20,000
< 20,000
ot 254 3,888 3,888 0
202 4 Hl 3,888 3,888 0
01 = LH 4 Hi 3,888 3,888 0
OXta e gR=2
81,0003 = 38 x 2& « 83l 3,888
A AR FHEZNA 861,000 0 861,000
402 RIZ2HXt20l ™ 861,000 0 861,000
01 212t 2 AL E = (REM &) 861,000 0 861,000
OMZLOHIHE XNEE= 646,000
O&ds0tIE NI=s8+ 215,000
HUHXIXE ==2el 1,559,033 989,535 569,498
= 20,227
J| 76,220
< 319,506
Al 1,143,080
Uzt 28 = 6,440 6,440 0
201 Let24E] 3,200 3,200 0
01 At 22l 3,200 3,200 0
ONLTNES 82 40 X
50,000& = 140H 700
ONUXZESY 2288 7Y
2,500& = 1,0000H4 2,500
202 O4dl 3,240 3,240 0
01 = LH 4 Hi 3,240 3,240 0
OuHXIZe 2= 044l
81,000& = 2% * 28 * 103l 3,240
JbA - HIIAE e X & 8,400 8,400 0
< 2,520
Al 5,880
403 Ut SHHS =0l & 8,400 8,400 0
< 2,520
Al 5,880




M LXelZ ot

S UXN KR i - 232
S MUHXXE =22k (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 SO 2SOICHsH A2 X 2 A I 8,400 8,400 0
OMASEE HIANE HEAY 8,400
= 2,520
Al 5,880
ATHAHHH X XIS XA 68,778 375,648 A 306,870
| 26,320
Al 42,458
201 Let24E] 6,400 6,400 0
01 At 22l 800 800 0
OHS(HIIS)Hel==2 800
02 3323l 5,600 5,600 0
OATHMUHUXIEE 23223 5,600
SAMTHMUHUHXIEEH AUHEE HIIRS
50,000& = 12& 600
SAMMEUHUHK ZEAE KRAL=H 5,000
202 odl 3,888 3,888 0
01 = LH YI 3,888 3,888 0
OATHMU U X 23 2= 0l
81,000& = 2% * 2& = 123 3,888
401 AIEBIZL 28I 58,490 365,360 306,870
| 26,320
Al 32,170
01 A& Hl 58,490 355,360 A 296,870
OATH A0 X XIS XA 58,490
| 26,320
Al 32,170
AMBIE JtAAE A 27,228 49,245 N22,017
= 20,227
< 1,517
Al 5,484
202 O4dl 1,944 0 1,944
01 = LH 4 Hi 1,944 0 1,944
ONAAE 2UXNE EE dR2FA 1,944
403 XIS E X201 & 25,284 49,245 223,961
= 20,227
= 1,517
Al 3,540
02 SO 2SO HEHAHE X 2 E AL H 25,284 49,245 223,961
OMOS JIAAAE JHE A 25,284
= 20,227
< 1,517
Al 3,540
HASE 2 MI=SXAE LEDS UM (dEs8 4 75,000 143,000 A 68,000
Ae)




M LXelZ ot

S UXN KR i - 232
S MUHXXE =22k (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Il 49,900
< 6,600
Al 18,500
401 Al&HI & 28I 13,000 94,000 A 81,000
| 6,500
< 1,020
Al 5,480
01 A& HI 13,000 94,000 A 81,000
O=X A& LEDS LN AL 13,000
J| 6,500
= 1,020
Al 5,480
403 A X EHS =0l A 62,000 49,000 13,000
| 43,400
< 5,580
Al 13,020
02 SO 2SOIlCHEH A2 X 2 & A I 62,000 49,000 13,000
OMASE LED=ZE LHALSE 62,000
| 43,400
= 5,580
Al 13,020
EFEAHIEAANHANE 2 =& 972 972 0
202 O4dl 972 972 0
01 =L 972 972 0
OEAHIE=a FRFA 04l
81,000& = 198 = 2 « 63l 972
ATHAE U X FERX 2 A 30,480 17,800 12,680
< 9,144
Al 21,336
402 RI2EX20| ™ 30,480 17,800 12,680
< 9,144
Al 21,336
02 QI E2AIS EZ (OIS ) 30,480 17,800 12,680
OAITHA Ol L Xl =&K& ALY 30,480
< 9,144
Al 21,336
MNBIE JIAAAE HE(ZHIEX) 6,000 10,122 N4 122
< 1,800
Al 4,200
403 X SHHE A0l & 6,000 8,178 N2,178
< 1,800
Al 4,200
02 SO 2SOICHeH 2R S E A I 6,000 8,178 AN2,178
OMASE 108 I3 JHAANE(EIOIH =) X
& 6,000
< 1,800




2N
X ZH -
L= B

el

& Xtel Z J
HUX X HE - 22
XIS =z 2el

1]

|

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| Al 4,200
SHE dII3= AL 56,100 0 56,100
< 28,050
Al 28,050
403 XXM S X201 56,100 0 56,100
< 28,050
Al 28,050
02 SO 2SOICHsH A2 X 2 A I 56,100 0 56,100
Os0E&E AISSAY 56,100
< 28,050
Al 28,050
OIIE 527 dEMMEX E=AMd 3,038 3,528 A 490
403 XAXISH M S K201 A 3,038 3,528 A 490
02 SO 2SO0ICHe 2R E A I 3,038 3,528 A 490
OOIE &) dEMMTX EZALY 3,038
foE HIM3E ALY 57,750 0 57,750
< 28,875
Al 28,875
308 KX SO0IA 57,750 0 57,750
< 28,875
Al 28,875
10 B2 SUHUEEAHEAE A 57,750 0 57,750
O=RclHIIMSE At 57,750
< 28,875
Al 28,875
SANIA BSAE ALY 1,204,000 0 1,204,000
< 241,000
Al 963,000
402 QI2H X201 M 1,204,000 0 1,204,000
= 241,000
Al 963,000
03 BIZHRIEF AL HI 1,204,000 0 1,204,000
OZAIIA BSXE ALY 1,204,000
< 241,000
Al 963,000
S&8HH 2N N&E EE 14,847 0 14,847
101 @124 dl 3,499 0 3,499
4 JI2ZHHZ22XEES 3,499 0 3,499
OHEI BIBA Hx=XZAIREA 1AH]| 3,499
cJIE= 68,7203 * 8H » 5¢ 2,749
oFxsad 68,7203 * 8% x 1 550
o ZHAlH| 5,000& * 8% = 5 200
201 LB-2dH| 11,348 0 11,348




M LXelZ ot

A MUXAE Y - E52el
el MU =z 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 11,348 0 11,348
OAHEI HIIZA 11,348
o2 9,768
o222 M 800
CESAMN 242 780
HE2LAZH (LRl ZH ) 72,701 69,413 3,288
el 2 32,134 28,929 3,205
ol 2| 32,134 28,929 3,205
101 @124l 32,134 28,929 3,205
03 RIHAZ 22 = 32,134 28,929 3,205
OFGLGAM 22X B 32,134
cll2z (HHARA, 65 8)
1,404,200 » 1H 128 16,851
o0z 1,404,200 * 1 * 400% 5,617
oMAT ALY 150,000& = 1&¥ = 128 1,800
o Z UG AH| 120,000& » 198 = 128 1,440
oA 150,000& = 1H = 123 1,800
oA R 110,000& = 198 = 128 1,320
o FE S I 1,404,200 * 19 * 120% 1,686
cHXURSF =Y 90,000 » 1H 18 1,620
Jl= &l 40,567 40,484 83
Jl=&l 40,567 40,484 83
201 Let249] 28,167 28,084 83
01 At 22l 25,667 25,584 83
ORNE2Y Jl=ZHl 250,000& = 12& 3,000
OMRBEE FL(SAMX S) 250,0008 * 128 3,000
OMFARII 22872
300,000 = 7CH = 23] 4,200
Od3a=+J| gz 56,900& = 104 » 12& 683
O=gtl 8,000& = 22 * 7 * 123 14,784
02 2324l 2,500 2,500 0
ORER= 2,500
202 Odl 2,200 2,200 0
01 = LH 4 Hi 2,200 2,200 0
OHI&4Z2 20 2,200
203 YR =&l 10,200 10,200 0
01 JI22E =8 6,000 6,000 0
OZHMHE=% 6,000
04 RENSELRF=LH 4,200 4,200 0
ORN2IYS =2 350,000&  12& 4,200
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